

07/23/2020

			Vendor	Ranking			Page 1 of 1
Letting:	02200715	July 15, 2020 11:00 AM	Call Order	: 002	Contract:	E2Z72-R0	
District:	District 2		Counties:	DIST/ST-WIDE, ST	Fed Aid No	: N/A	
Contract Time:	365 CALEN	DAR DAYS		JOHNS	Project(s):	41021477225 (*)
Contract Desc	Furnich and	l annhu harbiaidea ta raadaida	vogetation				

Contract Desc: Furnish and apply herbicides to roadside vegetation.

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA WATERWAYS, INC.	Responsive	Winning bid	\$42,690.25	100.00%
2	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$48,282.55	113.10%
3	DEANGELO BROTHERS LLC DBA AQUAG	Responsive	Non-Winning Bid	\$49,700.00	116.42%
4	QUALITY LAKE MANAGEMENT, INC	Responsive	Non-Winning Bid	\$52,800.00	123.68%
5	CROSSCREEK ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$55,850.00	130.83%
6	NATURCHEM, INC.	Responsive	Non-Winning Bid	\$123,771.25	289.93%
7	CURB APPEAL SEVICES INC	Responsive	Non-Winning Bid	\$131,000.00	306.86%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



07/23/2020

Tabulation of Bids

Page 1 of 4

Letting:	02200715 July 15, 2020	Call Order:	002	Contract: E2Z72-R0
District:	District 2	Counties:	DIST/ST-WIDE, ST	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS		JOHNS	Project(s): 41021477225 (*)

Contract Descr: Furnish and apply herbicides to roadside vegetation.

Furnish and apply herbicides to roadside vegetation to treat undesirable weeds, grasses and brush growth. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate	e Quantity Units	(1) FLORIDA W INC		(2) AIRBOAT A	DDICTS, INC.		O BROTHERS
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CHEM WEED	AND GRASS CON	TROL (GA				
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	85.000 AC	89.65000	7,620.25	90.98000	7,733.30	125.00000	10,625.00
0010 E580337 3 HERBICIDE (SPOT APPLICATION < SF)	3,000,000.000 100 SF	0.00455	13,650.00	0.00710	21,300.00	0.00500	15,000.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	145.000 AC	104.65000	15,174.25	104.15000	15,101.75	125.00000	18,125.00
0020 E580337 6 HERBICIDE (HAND APPLICATION)	35.000 AC	178.45000	6,245.75	118.50000	4,147.50	170.00000	5,950.00
0001 CHEM WEED AND GRASS S CONTROL (GA)	ection Totals:		\$42,690.25		\$48,282.55		\$49,700.00

Contract Grand Totals:

\$42,690.25

\$48,282.55

49,700.00



Tabulation of Bids

Page 2 of 4

Letting: 02200715	July 15, 2020	Cal	l Order: 002		Contract:	E2Z72-R0	
Line No / Item ID Alterna Item Description	te Quantity Units	(4) QUALI MANAGEN		(5) CROS ENVIRONME		(6) NATUR	CHEM, INC.
() indicates item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CHEM WEED	AND GRASS CON	TROL (GA				
0005 E580337 2 HERBICIDE (STRIP APPLICATION	85.000 I) AC	60.00000	5,100.00	90.00000	7,650.00	297.25000	25,266.25
0010 E580337 3 HERBICIDE (SPOT APPLICATION SF)	3,000,000.000 < 100 SF	0.01200	36,000.00	0.01250	37,500.00	0.01500	45,000.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	145.000 AC	65.00000	9,425.00	40.00000	5,800.00	297.25000	43,101.25
0020 E580337 6 HERBICIDE (HAND APPLICATION	35.000) AC	65.00000	2,275.00	140.00000	4,900.00	297.25000	10,403.75
0001 CHEM WEED AND GRASS CONTROL (GA)	Section Totals:		\$52,800.00		\$55,850.00		\$123,771.25

Contract Grand Totals:	\$52,800.00	\$55,850.00	123,771.25
------------------------	-------------	-------------	------------



Tabulation of Bids

Page 3 of 4

Letting: 02200715 Ju	ıly 15, 2020	Cal	I Order: 002		Contract:	E2Z72-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(7) CURB APPI IN					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (0		AND GRASS CON	TROL (GA				
0005 E580337 2 HERBICIDE (STRIP APPLICATION)	85.000 AC	100.00000	8,500.00				
0010 E580337 3 3, HERBICIDE (SPOT APPLICATION < 10 SF)	000,000.000 00 SF	0.03000	90,000.00				
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)	145.000 AC	200.00000	29,000.00				
0020 E580337 6 HERBICIDE (HAND APPLICATION)	35.000 AC	100.00000	3,500.00				
0001 CHEM WEED AND GRASS Sec CONTROL (GA)	tion Totals:		\$131,000.00				

Contract Grand Totals:

\$131,000.00



			Tabulation of Bids			Page 4 of 4
Letting:	02200715	July 15, 2020	Call Order: 002	Contract:	E2Z72-R0	
		NOTE [,] Failu	re to file a protest within the time r	rescribed in section		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.